

Maisonette in Qrendi



Qrendi, South



€425,000

Reference No: 240351001-46030

 Total Rooms: **5**

 Floor Area (m²) : **129**

 Bathrooms: **1**

 Bedrooms: **2**

Maisonette - For Sale - Qrendi

QRENDI - Located in a much sought after area of this village, facing green area, comes this ground floor MAISONETTE with a foot print of 180sqm. This unconverted property will make a lovely, bright and airy home with some minor structural works done to it. Property layout will then consist of an open plan kitchen/living/dining upon entrance, 3 bedrooms (main with en-suite) and a family bathroom. Further complimenting this property is a car port and a 25sqm back yard ideal for entertaining. Freehold

Features

- ✓ Yard
- ✓ Back Yard
- ✓ Court Yard

Rooms

- ✓ Double Bedroom : 3.92 x 3.7 m (14.5 m²)
- ✓ Double Bedroom : 3.67 x 4 m (14.68 m²)
- ✓ Living/Dining : 3.95 x 3.42 m (13.51 m²)
- ✓ Bathroom : 1.6 x 3.04 m (4.86 m²)
- ✓ Kitchen : 2.6 x 3.95 m (10.27 m²)

Gallery







RE/MAX Malta - BDV Sales

RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

RE/MAX Malta - BDV

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta